PHYS 102-07

Quiz # 8
Name:



Solution
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Solution:
The fields in between the lines have the same direction (to the right) so their sum can not be zero

Fields to the left are in opposite directions but line 1 always have E larger than that of line 2, so their sum can not be zero

Fields to the right of line 2 are in opposite directions and there is a point a distance d to the right of line 2 where their sum can be zero
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The point along from the origin is: 0.52
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[image: image4.emf][image: image5.emf]Solution: If we apply Gauss’ Law, we will notice that the charge enclosed at a radius 8.5 cm is zero. Therefore, the electric field at this point is zero.
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